Application
Systems

Optics &
Optical
Coatings

Opto-
Mechanics

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Vibration

Isolation Systems

Optical Tables

Darkrooms/
Dark Boxes

Optical Bases

Posts
Brackets
Adapters

Tools

D036

Optical Baseplates
Aluminum Spacers (25 x 25 mm)

OBB/OBC
MSP-25

2D
CAD

38D
CAD

ne Drawing

OBB-123EE/123UU

OBB-121EE/121UU

Hexagonal socket headcap screw M6x10...4 screws (121EE)
Hexagonal socket headcap screw 1/4-20UNCx3/8...4 screws (121UU)

Hexagonal socket headcap screw M6x10...4 screws (123EE)
Hexagonal socket headcap screw 1/4-20UNCx3/8...4 screws (123UU)

300
160 290=(P10x29) __10
150=(P10x15) *E* 10‘7 314-M2 1[s
10| 160-M2 ] depth 4
depth 4
%) ! 1 ] ) A
M ORI + 49‘ @rvrrverrrrrrlsrrrerrrrree H
PR R R R R I PR R R R A S SRR I I I SRR IR IR I SR SR SR SR SRR SR SSUD S
IR «v*g@«v*¢v ] i R R R R R R Y S AR S IR SR IR IR PRSP AR | =i
R R AR - R =) ¢¢¢¢¢¢¢¢¢¢v¢\‘fy¢¢4¢@¢¢¢¢¢+¢¢¢¢4¢ e |
R I AR S P A R 3 o LR R R I I R S A A R IR IR S ISP AP P S 3o
<| m z S - o| m bR —--
DR 2 R R A T R I O O e e I B o IR I R e A T
¢¢»¢¢r\¢»¢g€¢»¢¢» 8 =8 »¢¢»¢¢¢¢»***h»*¢g@»¢¢»¢¢¢¢»¢¢¢ 8 1=
RIS AR AR IR LI IR SRS A [ R IR I R R IR R IR - -l
PRI IR I I SR A RO . 04404»440»»»»0»40404404»440»44%
¢‘()¢r¢v§¢<¢€%¢v 19 ‘C)“f“f‘f‘}f“f{f“f‘f“f‘é%v i) i
B 8-¢7
A ¢11 counterbore B 8-¢7
A @11 counterbore
OBB-203EE/203UU
B Hexagonal socket headcap screw M6x10...4 screws (203EE)
Hexagonal socket headcap screw 1/4-20UNCx3/8...4 screws (203UU)
300
290=(P10x29) 10
10, 554-M2 3
B depth 4 -
T
B I R T I R
»¢@§¢»*¢»¢¢*¢»¢¢¢¢¢*¢»¢»¢¢0@¢¢ Il
ERA AR R IR R S R DI R R R AR SR AR SR ISR IR R
R I I T O e B R R R S
LR R I R R A R R R IR P I as
R R R I T S S IR IR SR IE SR R IR SRS SR SR SRR S
0440404404»4@0444@0»4040»404»» P Il
IR EEREEEREEEES AR AR I R I ISR IR AR I e 5 =
B I I I S S e P R R R R c’f_o
ol m S G G Gl 1P S G S G S S S G G 88
R R R I I R S S T IR IR I I I I SR SR SRR SRR SRy 1
044040440¢¢¢f\0440€}0440404404¢» 5 =
R IR I I RIS R - A AR A A R R R - |
B I I I T S e P R R R
IR R R R IR I S S R R R R I P
R R R R IR I I R SRR DI R R R AR SR R SR ISR AR AR IR
P R R T T R SRR PAP D SRR IR SR IR SR S e -
RO SIS SN XN T
B I IR R T I IR IR P A R R |
B8 8-7
A ¢11 counterbore

Specifications

Primary material: Aluminum

Fi lack Anodized

B Numlsar [ﬁ:fne] TappedSIL-Jlrcf:Iaecseon Top [mAm] [mBm] [mCm] V\I[Ie(ig]ht

OBB-121EE 120x160 M2 100 50 - 0.48
‘oBB-12100 | 120x160 M2 016 08 - 048

OBB-123EE 120x300 M2 250 50 100 0.93
‘oBB-1230U | 120x300 M2 254 s08 016 093

OBB-203EE 200x300 M2 250 50 150 1.58
‘oBB-203LU | 200x300 | M2 %54 s08 1524 158

Example of baseplate usage

HOURS

www.hours-web.com


https://pan.baidu.com/s/1bSqQmpaVAyRSko6yE9X8Zg

Outline Drawing

2D
CAD

3D
CAD

OBC-1216 OBC-1230
E Hexagonal socket headcap screw M6x10...8 screws, M4x12...4 screws E Hexagonal socket headcap screw M6x10...8 screws, M4x12...4 screws
160 300
25 25 25 25 25 25 10 25 25 25 25 25 25 25 25 25 25 47-M4 i
TfT T-‘ 274 |3 ﬁ -+ _‘ through hole
through hole
o ? PUNDS o A ? e ¢ o 4 o T - &
"o} w
& | © © : 8 © ©
o o e ©® o o B ¢ o 6 o6 ® o ©® o o o o
0 || 4.5 3l
o N T o o
& oo o—6—o— Tt & e —oe—0—0 o—6—o—o 60 Tt
o o
N o
o o ° ° o e o o o © o e o o o
Q © € 8 © € u
° 2 o\ @\ : 2O o o o o ele o @ 5
4-¢7 mounting holes 125 4-¢7 mounting holes 4-¢7 mounting holes
11 counterb - i 225
$11 counterbore ¢11 counterbore 4-¢7 mounting holes ¢11 counterbore
4-¢4.5 mounting hole $11 counterbore 4-¢4.5 mounting hole
$8 counterbore $8 counterbore
OBC-2030
E Hexagonal socket headcap screw M6x10...8 screws, M4x12...4 screws
300
10,
25 25 25 25 25 25 25 25 25 25
1 o W
‘ ‘ ‘ ‘ ‘ ‘ ‘ through hole
1 —° © e e o o o o o °
&
F—1—¢ ¢ o ©® ¢ ¢ o © o o H
9 1 4.5
1 E—— © © © ° © ° © © © ©
wn
o « wn
S ——0-—06-—6—0 6— 66— —6——¢ R 4t
N 0 —
N
1 —° © © © © © © © © © ©
&
—ft—¢ o o ©® o o o e & e [H
& ~
1 6@ /@ o o6 o o o o\ o e@ i

| 215 |

4-¢7 mounting holes

4-¢7 mounting holes
$11 counterbore

@11 counterbore
$4.5 mounting hole
¢8 counterbore

e a Primary material: Aluminum
Specifications Finish: Black Anodized
Part Number [ﬁqif:’] Tapped Holes on Top Surface W[iig]ht
OBC-1216 120x160 M4 0.48
OBC-1230 120x300 M4 0.93
OBC-2030 200x300 M4 1.58

Spacers for [ 125mm positioning stages.

Outline Drawing

® These spacers allow users to MSP-25 25
increase the height (thick- 1010
ness) of stages. r—

@ \arious thicknesses are 2
available in 5mm increments. 8 o 7 ¢

Tl o o

8-92.4 t

Primary material: Aluminum

Specifications Finish: Black Anodized
Thickness t Weight
I — Part Number [mm] [ka]
uice MSP-2505 5 0.008

P Custom sizes not listed in the catalog can be purchased.
Contact our Sales Division for more information.

MSP-2515

HOURS

I —
www.hours-web.com

Application
Systems

Optics &

Optical

Coatings

Opto-

Mechanics
[l Bases

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D037



https://pan.baidu.com/s/1wg-8TJKZQ4FLh8FJYhZerA
https://pan.baidu.com/s/1DEGgr8uRNeCCb63ZTHjirw

Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D038

MSP-40

Aluminum Spacers (40 x 40 mm)

Spacers for 40 x 40 mm positioning stages.

® These spacers allow users to increase the height
(thickness) of stages.
@ Various thicknesses are available in 1mm increments.

ll Guide

P Custom sizes not listed in the catalog can be purchased.
Contact our Sales Division for more information.

2D
CAD

3D
CAD

Outline Drawing

MSP-40: *

E Hexagon socket head cap screw M3x12...4 screws (4002)
Hexagon socket head cap screw M3x14...4 screws (4003)
Hexagon socket head cap screw M3x16...4 screws (4005)

MSP-40: A
E Hexagon socket head cap screw M3x10...4 screws

MSP-40:% *B
E Hexagon socket head cap screw M3x10...4 screws

40 8035 40 40
16 16 -¢3. t 16 16 4-M3 depth 6 s 16 16 4-¢3.5 mounting hole
‘ [ ‘ ‘ ¢ 6 counterbore
I
o o © @ o - © e
‘ e e ©
SFO O S O——© —1% - <] o S
\ ) ° e
© o ¢ © o = ® <«
! 4-$3.5 mounting hole 4-M3 depth 6
@6 counterbore
Combination Example (Height: 48mm)
15mm
MSP-4015B
MSP-4003
‘ 30mm
MSP-4030A
Mounting Surface Pattern
P.C.D.32M 2M " "
CBS2MS [132M3 B Numilsar Thickness t Weight
5 MSP-4005 MSP-4005 [mm] [kg]
- 1 .004
10 MSP-4010A MSP-4010B Lt I
MSP-4002 2 0.009
- Upper MSP-4005 MSP-4005 | R ERNRRRERN—— T
Lower MSP-4010A MSP-4010B MSP-4003 3 0.01
Upper MSP-4010 MSP-4010A |  arap. A00E T T
20 | Cower MSP-4010A MSP-4010B MSP-4005 5 0.02
25 Upper MSP-4010 MSP-4010A MSP-4010A 10 0.04
Lower MSP-4015A MSP-4015B | oo e
- 10 0.04
- Upper MSP-4010 MSP-4010A PP
= Lower MSP-4020A MSP-4020B MSP-4015A 15 0.06
Iy Upper MSP-4010 MSP-4010A |  mrap. e T
2| 35 | Lower MSP-4025A MSP-40258 MSP-40158 15 0.06
3 - Upper MSP-4010 MSP-4010A MSP-4020A 20 0.09
3 Lower MSP-4030A MSP-4030B
/G Upper MSP-4015 MSP-4015A
Lower MSP-4030A MSP-4030B
Upper MSP-4020 MSP-4020A
50 | Cower MSP-4030A MSP-4030B MSP-40258 25 0.1
55 Upper MSP-4025 MSP-4025A MSP-4030A 30 0.13
Lower MSP-4030A MSP-4030B | oo
- Upper MSP-4030 MSP-4030A MSP-40308 30 013
Lower MSP-4030A MSP-4030B
Upper MSP-4030 MSP-4030A
65 Middle MSP-4005 MSP-4005
Lower MSP-4030A MSP-4030B

HOURS

www.hours-web.com



https://pan.baidu.com/s/1ci5HWyqghwNzhxjYm3RH_Q

Aluminum Spacers (60 x 60 mm) | MSP-60

Spacers for 60 x 60 mm positioning stages.

® These spacers allow users to increase the height Application
(thickness) of stages. Systems
@ Various thicknesses are available in 1Tmm increments.

Optics &
- Optical
i Guide Coatings
P Custom sizes not listed in the catalog can be purchased.
Contact our Sales Division for more information. Opto- )
Mechanics
[l Bases
2D|(|38D
CAD||CAD Manual
Stages
Outline Drawing
Actuators &
MSP-603 MSP-603 %A MSP-60+* *B Adjusters
E nzgggﬂg: zggtg{ n::g ggg zgm mﬂ%i zgzx: {gggg E Hexagonal socket head cap screw M4x10...4 screws E Hexagonal socket head cap screw M4x10...4 screws
Hexagonal socket head cap screw M4x16...4 screws (6005) .
60 60 . 60 . Motoeized
25 25 8045 25 25 M . 25 25 - Stages
32 ot 32 depth 10 _L 5.5 32 _L 5.5
N 4-M3 Light Sources &
© © © H depth 6 @ @% H @9 © @B T Lagsef Safety
& o R > - © ] -
N R¢ 4xM4 R
o o
o o ® A ) ey depth 10 .o & 8 d_
© 8 @ © 3 s |© 9 8 Index
Aamth a2
o 8 ° o & AR o @
© o o) ° @ = @ ¢ @ &=
4-635 4-¢ 4.5 mounting hole 4-¢ 4.5 mounting hole
~93. ®8 counterbore ¢ 8 counterbore Guide
Combination Example (Height: 57mm) Vibration
MSP-60:*:%C

B Hexagon socket head cap screw M3x10...4 screws

60
25 25 =
32 8-M4 depth 10

2mm MSP-6025C

MSP 6002 Optical Bases
. fZSmm
L omm MSP-6025A
Faomm “f MsP-6002 Posts
{ MSP-6030A iy |

| d 2
*M”s"; 6002 Brackets

. fesom Optical Tables
{ MSP-6025C

Darkrooms/

IZSmm Dark Boxes

© © —
© ©

25

32

©
60

¥o)
©

PP S N B iy

4-¢3.5 mounting hole
¢ 6 counterbore

+30mm
_yMSP-60308

25

- Adapters
30mm
MSP 6030C

Tools

Mounting Surface Pattern . material: Aluminum
P.C.D.50M4 [150M4 [132M3 — Slack °d'd
5 MSP-6005 MSP-6005 MSP-6005 Part Number 'fm':s]ss [i'g]
10 MSP-6010A MSP-6010B MSP-6010C MSP-6001 1 0.01
15 Upper | MSP-6005 MSP-6005 MSP-6005

Lower MSP-6010A MSP-6010B MSP-6010C
Upper MSP-6010C MSP-6010C MSP-6010A

20 | Gwer | MSP-6010A | MSP-6010B | MSP-6010C MSP-6005 5 0.05
Upper | MSP-6010C | MSP-6010C | MSP-6010A y 10 0.10
25 | ower | MSP-6015A | MSP-6015B | MSP-6015C sl
a0 | Upper | MSP-6010C | MSP-6010C | MSP-6010A
Lower | MSP-6020A | MSP-6020B | MSP-6020C MSP-6010C 10 0.10
F| 5 | Upper | MSP6010C | MSP-6010C | MSP-6010A MSP-6015A 15 0.15
g Lower | MSP-6025A | MSP-6025B | MSP-6025C
E Upper | MSP-6010C | MSP-6010C | MSP-6010A
S| %0 | (ower | MSP-6030A | MSP-6030B | MSP-6030C MSP-6015C 15 0.15
=| 45 | Upper | MSP-6015C | MSP-6015C | MSP-6015A MSP-6020A 20 0.19
Lower | MSP-6030A | MSP-6030B | MSP-6030C
50 | Upper | MSP-6020C | MSP-6020C | MSP-6020A MSP-6020C 20 019
Lower | MSP-6030A | MSP-6030B | MSP-6030C VISP -6025A o o2
55 | Upper | MSP-6025C | MSP-6025C | MSP-6025A :
Lower | MSP-6030A | MSP-6030B | MSP-6030C
60 | Upper | MSP-6030C | MSP-6030C | MSP-6030A MSP-6025C 25 0.24
Lower | MSP-6030A | MSP-6030B | MSP-6030C MSP-6030A %0 0.09
Upper | MSP-6030C | MSP-6030C | MSP-6030A
65 | Middle | MSP-6005 MSP-6005 MSP-6005
Lower | MSP-6030A | MSP-6030B | MSP-6030C MSP-6030C 30 0.29

HOURS grv=

www.hours-web.com



https://pan.baidu.com/s/1DJ7-yIEw4q4-wae73-ZHVw

	MSP-25
	MSP-40
	MSP-60



